
Sekcja : Rama główna i dolna

NazwaLp Symbol KatalogW zespole Uwagi
11 5211/101-01-100 Rama główna spaw. B
26 Śruba M12x70-8.8-B-Fe/Zn5 B
27 M12-8-B-Fe/Zn5 82175 Nakrętka samozab. M12-8-B-Fe/Zn5 B
111 5211/102-01-100 Rama dolna spaw. B
111a 5211/102-01-109 Oś B
213 5211/002-02-100 Sworzeń spaw. B
114 5511/007-02-016 Podkładka 35x45x1 B
215 8X50 Kolek spr. B
117 5211/102-03-100 Blokada spaw. B
118 5211/102-03-005 Przelotka B
119 5511/011-02-000 Linka kpl. B
120 5413/X1-13-14-10 Sprężyna A
121 R/0989 Przetyczka B
222 M12x60-8.8-B Śruba sześciokątna B
123 PN-M-82101 Śruba M12x100-8.8-B-Fe/Zn8c B
124 M10x60-8.8-B-Fe/Zn8c 82101 Śruba M10x60-8.8-B-Fe/Zn8c B
325 M12-8-B-Fe/Zn5 82175 Nakrętka samozab. M12-8-B-Fe/Zn5 B

126 M10-8-B PN-M-82175 Nakrętka samozab. M10-8-B Zn PN-M-
82175 B

128 5211/102-04-001 Osłona łańcucha B
229 M10x20-8.8-B-Fe/Zn8c Śruba M10x20-8.8-B-Fe/Zn8c B
230 PN-77/M-82008 Podkładka spr.10,2 Fe/Zn9 B
231 10.5 Fe/Zn5 Podkładka B
132 PN-M-82101 Śruba M12x40-8.8-B-Fe/Zn8c B
233 5211/102-03-002 Cięgno górne B
234 5211/102-03-003 Tulejka 17x8 B
135 5211/102-03-004 Tulejka 17x24 B
136 DIN 988 Podkładka regulacyjna 35x45x2 B
137 PN-ISO-7072 Przetyczka 12x45 Fe/Zn8c B
138 1767/100-02-100 Sworzeń górny spaw. B


